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Position A: White moves
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If frictional effects can be ignored, how does the final speed of roller
coaster cart A compare to the final speed of roller coaster cart B, if
the mass of the carts is the same and they both start at rest?

Initial A Final Initial B

IS] o O

(1) The cart A is moving faster at the final position
(2) The cart B is moving faster at the final position
(3) Carts A and B have the same speed at the final position

(4) There is not enough information to decide




Equipment

- EyeLink 1000 Remote Eye Tracker

Procedure

Instructions and
1 calibration of eye
tracker

Answer 10 multiple
2 choice conceptual
questions while eye

movements recorded
Explain reasoning for

3 answers to questions while

watching playback of eye
movements ER
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Rank the changes in potential energy during the skier's descent
down each slope from greatest to least.

Slope C

(1) APE, > APE, > APE.  (4)APE, = APE, > APE

(2) APE. > APE, > APE, (5) APE, > APE. = APE,
(3) APE, = APE, = APE.
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If frictional effects can be ignored, how does the final speed of roller
coaster cart A compare to the final speed of roller coaster cart B, if
the mass of the carts is the same and they both start at rest?

Initial A Final Initial B

S|

~—
(1) The cart A is moving faster at the final position
(2) The cart B is moving faster at the final position
(3) Carts A and B have the same speed at the final position

(4) There is not enough information to decide

Two balls roll along the paths shown above. The position of the
balls is shown at equal time intervals of one second each. When
does Ball B have the same speed as Ball A.

Ball A

—e

(1) t=1.0sec (2)t=15sec (3)t=2.0sec
(4) t=2.5sec (5)t=3.0sec




The motion of two objects is represented in the graph below.
When are the two objects moving with the same speed?

distance

A time

(1) PointA  (2) PointB  (3)PointC  (4) PointD
(5) PointE  (6) Atall points

Rank the changes in potential energy during the skier's descent
down each slope from greatest to least.

Slope A d

Slope B

Slope C

(1) APE, > APE, > APE.  (4)APE, = APE, > APE,
(2) OPE; > OPE, > OPE,  (5)APE; > APE; = APE,
(3)APE, = APE, = APE,
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